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Student: Instructor: Joe Betters

Date: Course: Pre-Calculus Pre AP (Master Assignment: 7.5 Classwork (Day 1)
’ Course)

1. Use the figures to evaluate the function if f(x) = tan x.

flo+f)

Choose the exact vaiue of f(o + ) below.

- 84/2 +94/3
DA farp=-——F
442 + 743
{1 B. fla+py= - -—£
5
- 84/2 +94/3
2 C fa+py= ——
5
. 74/3 —44/2
5 D. f(a+ﬁ)=—[——
5
2. Establish the identity.
cos (o + [3)
———=1-tan otan f§
cos acos f
Choose the sequence of steps below that verifies the identity.
(YA, cos{u+p) sin asin B+ cos acos p sin asin p  cos acos §
= = + =1=-tan otan P
cos acos f cos xcos f cos acos B cos wcos P
O B. cos(a+f) cos ocos B+ sin asin f cos acos B sin «asin f -t ¢
= = -+ = -
cos acos f3 cos o cos f cos ccos f  cos acos P an atan
()C. cos(x+P) cos ccos f-sin asin B cos acos f sin asin B
= - N = . - - =1-tan atan
cos wcos B sin asin [ sin asin §  sin asin B
{3D. cos(x+P) cos xcos P-sin asin p cos acos B sin asin f -t
cos acos P cos acos f " cos acos ﬁ_ cos acos § - tan afan p
3. Find the exact value of the expression.

=] -1
sin | sin —2-+cos 0

=1 -1
sin | sin E+cos 0=

(Simplify your answer. Type an exact answer, using radicals as needed. Use integers or fractions for any numbers in the

expression.)
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4, Find the exact value of the expression.

an ~1.0 _q 4
— —
Gos | an 9 COos 5
i ~1.90 _i4
=, I
cos (tan 9 cos 5

(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression.)

5. Solve the equation.
cos §+4/3sin 0=1.

What is the solution in the interval 0 €8 <2n? Select the correct choice and fill in any answer boxes in your choice below.

“:: A. 0=
(Simplify your answer. Type an exact answer, using n as needed. Type your answer in radians.

Use integers or fractions for any numbers in the expression. Use a comma to separate answers
as needed.)

"y B. There is no solution.
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6. Show that the difference quotient for f(x) = sin x is given by the following.

fx + h) — f(x) - sin (x+h) -~ sinx

h h
sin h
h

COS X-

Rewrite sin (x + h}. Choose the correct answer below.

sinxcos h= sin hcos x— sinXx

- sinx+
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YA

h
. sinxsin h- cos x ¢os h- sinx
\___.

h
- sinxcos h+ sin hcos x— sinx
(e

h

sinxsin h+ cos xc¢os h— sinx

h
Rewrite the resulting expression.

sin hcos x— sinx{1 - cos h)
h

sin hcos x+ sinx{1- cos h)
h

cos xcos h— sinx(1 - sin h)
h

sin hcos x+ sinx(1+ cos h)
h

A

OB

OD

Rewrite the resulting expression again.

sin hecosx sinx(1 - cos i)

+
h h
sin hcosx sinx{1- cos h)
) B. -
h h
] sin hcosx sinx(i+ cos h)
Y C. +
- h h
. cosxcos h sinx{1- sinh)}
h B h

Therefore, the difference quotient for f(x) = sinx is cos X+
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1. 84/2 +94/3
A fla+B) = _Ef25043
5
2, cos(a+P) cos axcos B-sin asin B cos acos B sin usin B
. = = - =1-tan atan f
cos acos cos acos B cos acos } cos acos P

3 43

2
4, 84
"~ 205
0 21
5. A.0= 0,3

(Simplify your answer. Type an exact answer, using © as needed. Type your answer in radians. Use integers or fractions
for any numbers in the expression. Use a comma to separate answers as needed.)

8. sinxcos h+ sin hecos x— sinx
C. h

sin hcos x— sinx(1 - cos h)
h

sin hcosx sinx(1- cos h)
h h
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